@ @% $ %’ Negative eksponenter pa 10

StudentName: ExamDate: __ ExamScore:
793,3 x 107 = 553+ 100 =
1072 = 799,7+ 1071 =
1009 = 822, 6 x 1079 =
1073 = —1x10° =
7x10° = 397,7+ 1002 =
10°Y = 167,5+100% =
503,6x 107 = 1004 =
—1x 107 = 853,9+ 107 =
100D = 1004 =
759, 8 + 100% = 9 x 103 =
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Negative eksponenter pd 10

StudentName:

793,3 x 10 = 0.7933
1072 = 0.01

107 = 0.0001

107 = 0.001

7x10° =7

107 = 0.0001

503,6 x 10°% = 0.05036
~1x 107 = —0.01
1077 =0.1

759, 8 = 100 = 7598000

ExamDate: ExamScore:

553 + 107 = 5530000
799,7 + 10" = 7997
822,6 x 107 = 0.8226
~1x10°=-1

397,7+ 1002 = 39770
167,5+ 1072 = 16750
107 = 0.0001

853,9+ 107% = 8539000
10 = 0.0001

9 x 107 = 0.009
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